





































EX2.3.1

a B 8 2 16 5 4 5
3 5 2 423 1
3 2 16 5
7327154

À
A A 8 716 5 1 51423 1

b 15 44 4 3 2 2 3 1 7211
ÉTAT 1 3 113 3473 7

3 4 3113 2 273 1
3 4 16 3 3 2

3 3 173 1
3 356434

HOX 1
7 414 77

204 8

A X 418 2 73 1 472 11433 734 71 204 8

d 4 31332 X 5 423
1123 3

3 3 3 2 X 5
3 3 FSX
3 2 8 5

3F_gÈ4
3 7 5 4231123 31 8 4



d 3573 47112 13 1 5 1
35 3 F772 7 2 84 1

40 2 13 1
40MFR

5

35 3 47 2 13 1 5 1 7 2 8 1

ht Iffy 313 2 2 5
starts

EYE 2 5

XB 2 2 54
3FRF

ÉMO
10

5 3 3 2 2 54 271 12 3 75 10

avec schémade Horner

1 0 3 2 5 0

4 Et



EX2.3.2

b 12 4 47 3 10
2 12 3 28 6

12 4532 3 24112 4 2 5 2

15 3 34 2 12
15 3F4044304

6 2 30 12
GPA 6 12

46K

12 4 47 3 10 717 13 28 644112 5 21 464

EX 2.3.3
y_g ap

3 3 24 30

p 43 3 4 301 X51

Avec le schémade Horner 1 3 4 30

5
52181

p XIX 6

EX 2.3.4
p 2 2 1 5 2 3 1 1

10 4 6 72 75 2 3 1 1 X

10 4 6 3 7 2 4 2



EX2.3.8

IIII
avecthéorèmedureste

à 4 10 11 5 t all 4 10 1 5 0

bi 9 1 1 1 2 ou r at 916 8 4 2 2 132

1,35 Is
d 4 5 3 7 ou

94 Ç
t'aide 7

Ex2.3.9
à r A31 227 9 15 1 59

b r Afd 16 2 1 19

d r A 3 27 27 0

EX 2.3.12

a DX 2 3 14 12 candidats 1,12 3,14 6,112

PHI 2 14 12 0 1 est un zéro

P2 16 28 12 0 2 est un zéro

P31 54 42 12 0

Pl31 54 42 12 0 3 est un zéro



bl Pix 4 6 37 6 Candidats Il 12 I3 6

PM 1 6 1 6 40
ff11 1 6 1 6 0 1 est un zéro

P2 16 48 2 6 10

Pl21 16 48 2 6 40

P 3 81 162 3 6 40

plz O

P61 1296 129676 6 0 6est un zéro

plat 0

Variante X 6 3 X 6 Y PIX61 1 6 1 6113 11
1 611 1 Njà

EX2.3.16

plat 2 3 8 2 Sx Était 4 41Eh 2 1 21



EX 2.3.18

a pix x 2 3 5 2

MÉE 1 3 2 2 5 6 candidats 1 2 3 6

pm 1 2 5 640

pt11 1 2 5 6 0

1 2 5 6

1 1 1 18
II px X 171 4 61 SIX 1 1 371 2

b 5 3 4 16 48

x 1 31 161 31

1 371 4 161
PE 1 3714411241
ER 1 3712 411 271 21

d 6 4 5 3 23 2 20 4 candidats 1 2 4

pill 6 5 23 20 440

ptit 6 5 23 20 410

f121 616 58 23.4 202 4 0

6 5 23 20 4
2
g f tg j Ô pH K Ite2 12 10 2

_y a 1o
candidats

ÉÉÉÉàessayé
9121 6.8 7 4 9 2 240



912 6.8 7 4 9.2 2 0

p x 21 216 5 1
De 25 4.6 1

Mz 5 Iz

pk k zllxtdkx.ly zxy
1 Nt 12 1113 1

EX2.3.19

al 1 1 1 1 1

11 33
QN

3 2 73 4 et F5

b 1 0 0 0 0 1

1,11111
qui _Et X X 1 et EO

d 3 8 7 1 5 6
2

357 131
911 3 4 14 3 35 2 69 133 et re 260



EX 2.3.20

px X 6 5 15 4 204315112 6 1

repli 1 6 15 20 15 6 1 0 divisibleparx p

EX 2.3.21

d Gx 4 3 7 2 2 2 3
6 4 19 2

4 3 2 2
3 2 2 1

4 3 6K

2 2 ex
2 2 3

6 3

6 4 4 3 7 2 122311342 11 t 6 3

et 14 4 27 3 21 2 3 2 2 23 2
14 4421 3714 2 7 2 3 1

6 3 7 2 34
6 359 2 64

2 2 3 2
2 2 3 2

0

14 4 27 3 21 2 3 2 122 3 2117112 3 11



Ex 2.3.22

put 2 3 3 2 Mx 6 candidats Il 2,13 IG

2 3 1 6 plato plato pis or
3 I I 18
p 1 3112 23 21 3 24 111 21 1 3112 11 21

D'EIKI É
EX2.3.23

à phd Pt 9 2 1 21 candidats Il 3 7,121
plat 1 9 1 21 0

1 9 11 21

pmD'Yx netoxtal 1 1
SE 1 111 311 71

b pH 2 3 16 2 2 15 candidats Il 3,15 15

pm 172 16 2 15 0
1 2 16 2 15

11 3 13 Is px IKNBtgjt.iecandidats Il 3,15 15

QUI 1 3 13 1540

911 173 13 15 0

PIN A111 171 72 151
SPX111 14 571 31



d idem ex 2.3.18 d

dt pk 45 3 4 21 3 434496 180

candidats Il 12,13 4,15 6 9,10 12,115
18 20,130,136,145,160,190,1180

p11 1 3 21 43 96 18040
ptit 1 3 21 43 96 18010
f121 ou

1 3 21 43 96 180
2 4 123 Jo que

3 23 23 90

9721 F03 I 1 330 l
que 0
913 0

5 1 SIX A UN 1 30

S41 0

on
PHÉNIX211 311 5144 61

A211 311 511 214731 1 241 3124 5


